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Fill the blanks with given words (° p.)

[ magnify - effectively - measured — details vehicles- launching - artificial - charity - robbed - matter]

‘) She had fifty ............ projects in India.

Y) They can communicate with each other ............ and inexpensively.

¥) A microscope will ................. these germs, so that you can actually see them.
¢) E-mail stays readable no ........... how many times it is forwarded.

©) Tell me, are these beautiful flowers natural or ...............cc.cocoveen. ?

1) Soon both countries were .........c........ humans into space.

Y) The dress designer ........ccccccceeevvennen. Mary for her new clothes.

A) They are also .............. of their rights.

4) There are a lot of motor ................. on the roads of our city.

V+) Can you give me further ......................... of how the accident happened.
Match the two columns: (¥ p)

a. send a message or note to a new address V) emergency......

b. important part or quality of something \Y) vacation.......

c. without stop 'Y) remove......

d. an event needing immediate action V{) feature.....

e. holiday V@) forward....

f. something that shows what’s happening V1) continuously....

g. make someone stop doing a job

Complete the following sentences. The first letter of each word has been given to you. (Y p)

\V. I asked the manager'sp_ to take a day off.
‘A John'suncles .~ from a strange disease.
V4, This software makes iteasytoa information in the database.

Y+, I don't know why the computer is not ¢ to the printer.

Choose the best answer: (Y p.)

YY) Peter works very hard ....... his brother is quite lazy.
a.while  b. for example c.sothat d.asif
YY) These rockets needed both force and guidance .....they could be directed to
reach their orbit.
a.inorderto  b.such as c.sothat d.soasto
YY) ........a computer is a useful device; it has its own problems.
a.whereas b. for c. although  d. whatever
They had enough time, they ........... to the cinema but they did not.Y ¢)
a. could go b. could have gone
c. shouldn’t have gone d. must have gone
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a) confidence b) document ¢) destination d) guarantee
Y3, Aroad ... was established between the airport and the city.

a) headline b) link Cc) network d) transfer
YV. Many doctors say that smoking is highly ....

a) addictive b) willing C) superior d) extreme
YA. She ... the file to her e-mail and sent it to her friend.

a) estimated b) emphasized c) accessed d) attached

Make sentences with the given words: (Y p.)

Y1) heavy — should - lifted — I — have — not — that — box
¥+) him-let s-tv-she-watch

Combine the following sentences using the words in parentheses. (Y p)

Y1) Reza turned down the radio. He didn’t want to disturb his roommate. (so as to)

YY) She didn’t catch her train. I’m sure she left home too late. (must)

PART THREE: READING COMPREHENSION
ILO has estimated that Ye+ million children work in developing countries.
Sixty-one percent of these are in Asia, YY/ in Africa, and Y7 in Latin America.
Most working children in rural areas are found in agriculture, urban children
work in trade and services with fewer in manufacturing and domestic services
such as delivering newspapers. (p)

YY) According to ILO where do we find the most number of working children?
d. Eastern Europe c. Asia b. Latin America a. Africa
Y'¢) Agriculture has attracted more working children in rural areas. (true — false)

Luna is a beautiful world that lies some YA£<¢ .+ kilometers from Earth. It is
full of mountains, valleys, and many bowl like holes called Craters. Lunais a
clean world to explore because you can see it without any telescope. | know you
have seen it; in fact you may even see it tonight that is because Luna is our
moon. (*,° p)

#e.Luna is another name for moon. (T / F)

Child labor is a big problem all over the world, especially in developing
countries. Africa and Asia together contain ¢ + percent of child employment.
Child labor especially exists in rural areas. Children work for a variety of
reasons, the most important being poverty. Though children are not well paid,
they are still a big help to family income in developing countries. Schooling
problems also cause child labor, whether it is lack of schools or the lack of
quality education which makes parents enter their children into jobs. Social

roles in certain countries further limit education and increase child labor. (+,° p)
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A famous writer who was visiting Japan was invited to give a lecture at a
university to a large group of students. As most of them could not understand
spoken English, he had to have an interpreter to change his words from English
to Japanese. During his lecture he told an interesting story which went on for a
long time, but the interpreter told the same story in a few seconds after which
all the audience laughed loudly.

After the lecture, the writer asked the interpreter how he told such a long

story in a few seconds. "'l did not tell the story at all. | just said, ""The honorable
lecturer has just told a funny story. You will all laugh, please.” () p)

¥V.. The interpreter took rather a long time to tell the story.

B. False A. True

¥A.. The audience laughed because ........... .

C. they understood the story. A. the story was very funny.

D. the writer told a funny B. the interpreter wanted them to.
story.

In the past, workers used to work very hard in factories and mines. Actually,
the conditions under which they (YY) to work were really terrible for (\Y¥)
health. They had to work in ( Y ¢ ), humid mines for long hours. Some ( V¢ )
them became ill and died in their ( Y1 ) place. Workers had to work ( V) they
dropped. They worked in a ( YA ) only three feet by two feet. ( Y4 ) pick and
shovel, they had worked ten hours at a time. If they slowed down, they were
whipped into action. (¥ p)

¥4. A has B. having C. had D. have
¢+, A. themselves B. theirs C. their D. them
£, A light B. pleasant  C. heavy D. dark
£Y. A from B. in C. off D. of

£y, A. force B. shade C. root D. work
¢¢. A until B. while C. when D. during
£6, A, space B. hill C. cafe D. stage
£, A, Against B. With C.of D.On
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Fill the blanks with given words (° p.)

Y)charity Y) effectively ¥) magnify ) matter
1) launching V) measured A)robbed 4) vehicles

Match the two columns: (¥ p)

V) d 1Y) e ) g Ve )b Ve)a V)¢
Complete the following sentences. () p)

\ V. permission \ A, suffers V4. access

Choose the best answer: (Y p.)

YV)a YY)c Y¥)c Y¢)b Ye)c )b YV)a

Make sentences with the given words: (¥ p.)

Y4) Ishould not have lifted that heavy box.

Y'+) She let s him watch tv.

Combine the following sentences using the words in parentheses. (¥ p)

1) Reza turned down the radio so as not to disturb his roommate.

YY) She did not catch her train.she must have left home too late.
PART THREE: READING COMPREHENSION
YY) c v'¢) false Y2) true Y1) true  YV)false YA b

Y4) ¢ )¢ 1) d £Y) d £Y) d t4)a

¢ )artificial

\ +) details

Y .. connected

YA)d

(Y p)

°) a )b (vp)
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[ I Vocabular‘y]

[ A. Fill in the blanks with the words given .(There's one extra) (1.5) ]

ran away, memory, annoyed, serious ,performance, forced, reason
Edison was born on February 11, 1847, in Milan ,Ohio ,and grew up in Michigan .At an

early age, he showed signs of a ..... (1)....... hearing problem. This may have been the

...... (2) ........for his poor ....(3)...... at school .Edison did not do well there and was

B. Match the definitions in column 'A' with the words in column 'B’.
(There is one extra word in column 'B') (1.5)

A B

a. slum
7. experience of pain and unpleasant emotions( ) b. transfer
8. very poor part of a city( ) C. remove
9. join one thing to another( ) d. suffering
10.moving sth from one place to another () e. base
11. a center from which sth is controlled ( ) f. union
12.make someone stop doing a job( ) g. attach

[C. Choose the correct answer. (1.5) ]
13. T asked the manager's .........to take a day off.

a. impression b. communication c. expectation d. permission

14. The north of Iran is a popular holiday ..........

a. destination b. migration c. development d. access
15. There are a lot of motor ........ on the road.
a. vehicle b. feature c. density d. base
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[II. Structure ]

[ A. Choose the best answer(2) ]

16. Space exploration is the use of space travel........discover deep space.

a. so that b. such as c. whereas d. in order to

17. We went for a walk,................... the weather was very bad.
a. even though b. whether c.inorder that d. so that

18. Ali likes classical music ........... his brother likes pop music.
a. while b. even though c. so that d. when

19. He hurt his back. He .......... not have lifted the heavy box.
a. should b. must c. could d. may

[B .Put the following words in order and make meaningful sentences.(2) ]

20. I, tired, felt, as, I, stayed, really, at home.

21. went, slums, she, to, poor, the, help, to, the, so as

[C. Combine the following sentence with the words given in parentheses. (2)]

22. It was a hot day. We decided to go swimming. (such)

23. Mary is saving money. She wants to buy a new car.(so that)

[ III. Sentence Func‘rior}

[ Complete the following sentences with your own words.(2) }

24.The part which is at the center of the earth is the c .................

25.Be very careful whenyouh ............ the bottle of acid,
26. Breathing means taking air into one's | ........... and sending it out again .
27. Some jobs may hurt children physically or emotionally s........... mining making

bricks ,carpets, glass, etc.




IV.Cloze passage ]

[Read the following passage and choose the best answer. (1.5)]

When the Ttalian scientist Galileo made a telescope in
1609, one of the first things he (28) ... through it was the
moon. He saw mountains and craters, and dark areas. Early
observers (29) .. these dark areas were seas, and called
them Maria. The Maria are not (30) .. seas, but wide flat
plains. In 1647 the German astronomer Johannes Helvetius
...... (31) ......... the first (32) ... map of the moon's (33) ....

28.1) included 2) observed  3) protected 4) survived
29.1) thought 2) handled 3) respected 4) operated
30.1) mildly 2) softly 3) really 4) recently

31.1) used 2) logged 3) published 4) dreamed
32.1) irrelevant 2) recycled 3) private 4) detailed
33.1) surface 2) focus 3) distance  4) radiation

A. Read the following passage and decide whether the statements that follow
are true (T), false (F) or not mentioned (N). (3 points)

The Sardine is a very valuable food fish. It is found in the coastal waters of many
parts of the world where the water is not too warm or too cold. The great sardine
territory of the United States is off the coast of California. Every year thousands
of tons of sardines are caught there.

Until recently, not very much was known about the sardine’s habits. Now scientists
have discovered some things about the life of the sardine. The female sardine
begins to lay its eggs when it is between 2 and 4 years old. It is then about eight
inches long. The female lays about 100,000 eggs, which float on the surface of the
water .The eggs hatch in two or three days.

Sardines are a healthful food that contains many rich oils and vitamins. They are
usually canned, and are eaten in salads and sandwiches. Some of the best sardines
come from the coasts of Norway and Portugal. The sardine is used also as a food for
cattle and chickens, and young sardines are used by fishermen as bait to catch
other fish. The oil of the sardine is used in many ways.

34. Sardines are found in waters of average temperature.

35. Americans eat thousands of tons of sardines every year.[ |
36. Scientists still do not know very much about the sardine. [ |
37. The female sardine begins to lay eggs when it is eight yearsold. [ ]

38. People can use sardines to make salads and sandwiches. [ ]




39. Norway and Portugal are the only countries in Europe, where people eat many

sardines. L[|

[B. Read the following passage and fill in the blanks with your own words. (1 points) ]

Most child laborers around the world are busy doing extreme forms of work that
are dangerous for their health. They are also being robbed of their ....(40).....,
including not only the right to ....(41).... to the highest level through education,
...... (42)...... also the right to a childhood. They often work as many as 12 hours a day,
(sometimes more), work under dangerous conditions such as factories with harmful
...... (43)...... in the air, handle dangerous materials, and use tools and machines which

are not designed for them.

[ F. Reading Comprehension ]

sentences. (2)
The computer age is producing an army of robots - machines
that are directed by electronic brains and which replace

[ Read the following passage and answer complete the ]

human labor in industrial operations. Many are artificial arms,
which reach the areas man enters only at his peril, such as the
inside of a nuclear reactor.

Already in 1980 there were over 8000 such robots working
in industrial plants throughout the world. The big changeover
to the robots; however, is likely to come only when their costs
go down while workers' wages continue to rise.

44, Sentence one indicates that robots are used mainly ....
1) to fight wars 2) to operate computers
3) to direct electronic brains 4) to take the place of human workers
45. The underlined word in line 3 refers fo ...........
1) robots 2) electronic brains
3) computers 4) industrial operations
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« MWQ »
I. Vocabulary
A. Fill in the blanks with the words given .
1- serious 2- reason 3- performance 4- annoyed

5- ran away 6- forced

B. Match the definitions in column "A" with the words in column 'B".
7-d 8-a 9-¢g 10- b 11-e 12-c

C. Choose the correct answer.

13-d 14- a 15-a

1. Structure

A. Choose the best answer

16-d 17-a 18- a 19-a

B .Put the following words in order and make meaningful sentences.
20- As | felt really tired, | stayed at home.
21- She went to the slums so as to help the poor.

C. Combine the following sentence with the words given in parentheses.
22- It was such a hot day. That We decided to go swimming.
23- Mary is saving money. So that she can buy a new car.

I11. Sentence Function
24- core 25- handle 26- lung 27- like / such as / as

IV. Cloze passage
28- observed 29- thought 30- really 31- published
32- detailed 33- surface

A. Read the following passage and decide whether the statements that follow
are true (T), false (F) or not mentioned (N).
34-T 35-T 36- F 37-F 38-T 39-N

B. Read the following passage and fill in the blanks with your own words.
40- right 41- develop 42- but 43- smokes

F. Reading Comprehension.
44-4 45-1
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A - Fill in the blanks with the words given
(magnify — nutrients — charity — addictive — concentration — agriculture — predict)
V. The Internet can be ......c.c.c.......... if you use it for a long time every day.
" Y. Itis stillimpossible to ............... when and where an earthquake will happen.
Y. Most of the people in the country are employed in ................
€. A microscope will ................. these microbes, so that you can actually see them.
©. Mother Teresa had fifty ......ccceveveeennn. projects in India.
1. Your body uses some of the ..................... in the food as fuel.
B- Match the definitions in column (A) with the words in column (B).
There is an extra itemin( B )
A B
V. not simple () a. humor
I | A information stored in a computer () b. apprentice
4. ability to laugh or make people laugh () c. chat
V+. A person who is learning a job () d. complex
e. data
C- Choose the correct answer.
VY. You should tell the children not to .................. dangerous materials.
a. promote b. create C. support d. handle
VY. Good parents should ................ All their attempts on training their children.
b | @ annoy b. award c. devote d. permit
VY. Mother Teresa's work ............... a lot of attention all over the world.
a. received b. invented c. helped d. decided
V€. Speaking in publicisa ....c.cooeveeee.. that you can learn with practice.
a. gesture b. skill c. speech d. contact

D-Match the Items in column ( A ) with the appropriate phrases in column ( B ) to
make meaningful sentences. ( V)

A B
Yo Ali's father has traveled to ----- ( ) a.ask them questions
V1. sending an email many times ----- ( ) b.increase poverty
VY. Child labor ----- ( ) c. distant parts of the world.
YA, If you want to involve your audience ... ( ) d. does not change its quality

\ delp
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E- Rewrite the following sentences using the reduced form of the underlined parts.
V4. The book which is written about global warming became popular.
Y +. Students who study hard are more successful in their exams.

F- Choose the correct answer.

YY. Tom comes from a rich family, ----- Bill lives in a poor one.

a. since b. whereas c .so that d. because
YY. John goes to library ----- study English

a.inorderto b. while c. so that d. though
Y, —-- it was cold,she went out without a coat.

a. So that b.To c. As d. Although

Y£. He was very sad when | saw him. He ---- have failed one of the exams, and | am
sure.

a. should b. may c .could d. must

Yo, Exercising is an excellent way to feel happy ----- you do it alone or with your
friends.

a. since b. so that c. whether d. while

Y. The injured man was ------ heavy for me to carry.

a. too b. such C. SO d. enough

G- Fill in the blank with the words from the list below. There is one extra word.
save - base — rocks — plans — discover — run - come from
people may one day build places to live on the moon or even on Mars. Although

there have been no (YY) - to build bases on the moon so far, they could
be possible by the year Y+ Y+, Amoon (YA)---------- could be used as a research
station.

To (Y4) ---- money, some materials needed to build and (¥+) ------- the base could
(YY) ---- the moon itself. for example , some of the moon's ( ¥V ) ---—----- have
oxygen.

H- Read the sentences and choose the best choices. ( ¥ )
YY. There are two kinds of work that children do, and only one of them is child labor.
So.... a.any activity we do can be a form of child labor.

b. there are two groups of children knowing child labor.

c. anything children do is certainly a form of child labor.

d. some work children do cannot be called child labor.
Y'¢. An earthquake could hit any place because no area is entirely free of
earthquakes.
According to the above sentence ................

a. earthquakes can happen everywhere at any time .

b. there are no need to worry about earthquake .

c. earthquakes happen in some certain areas .

d. there are some areas that are free of earthquakes entirely

Y amap
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Yo, The Web is actually one special area of the Internet. Other areas include
newsgroups, mailing lists and chat. We understand from the sentence that ......

a. the Web is more useful than the Internet.

b. the Internet is more specific than the Web.

c. the Internet is much wider than the Web.

d. the Web has other areas including newsgroups, mailing lists and chat.
Y. Three months after starting school, Edison ran away. His mother was forced to
teach him at home. We understand from these sentences that Edison .............

a. was not educated at all. b. was forced to go to school by his parents.
c. ran away from his house. d. didn’t go to school more than three
months.

|- Read the following passage and match each paragraph with one of the
headings

(main idea). Write letter (A, B, C, D) in front of the numbers of the paragraphs. ()
(A) Kinds of writing
(B) Effective communication by using writing skills
(C) Writing skills
(D) What is writing?
() YVY.Writing is an ancient art and a modern necessity. It first began with marks
on stones. Today we use pen and pencils on paper. These are now our main tools
for writing. These tools can be bought by anyone; however, the ability to use them
to express ideas cannot be bought. It must be learned through practice.
() YA A person needs several writing skills before he can express himself well. The
most important of these are correct grammar, sentence patterns, punctuation and
capitalization. Without these, it is very difficult to communicate with others in
writing. The way we put words together is the main thing that tells other people
what we are thinking about.
() Y4. One of the most useful and most common forms of communication is
letters. We all like to hear from our friends, our brothers and sisters, and our
parents. We also like to write to them about ourselves, our experiences, and many
other things. Letters are a very practical form of writing and one in which we can
use any kind of writing that we want. Usually, however, we write narratives,
descriptions or explanations.
() €+.You will sometimes find that these three kinds of writing are combined with
each other. Descriptive writing, for example, may form an important part of a story
or of an explanation. Many story tellers like to give descriptions to make their stories
seem more exciting and more real. As a person writes narratives stories,
descriptions, and explanations, he gradually develops his ability to express himself

Vi
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more clearly. He also finds that he is able to communicate his thoughts and ideas to
others more effectively.

J- Reading Comprehension: Read the following texts carefully, then answer the
questions by choosing the best choice.(Y)
About Y+ * million years ago, much of the earth was very warm and wet all year. This
heat and wet weather caused thick plants and tall trees to cover the land and make
jungles where many interesting animals began to appear.
Dinosaurs were a group of animals that lived on the earth for about Y €+ million
years. There were no men in the days of the dinosaurs, so no one has ever seen a
living dinosaur. But their fossils have been found in rocks. Studying their fossils gives
us facts about them. For example, the shape of dinosaur’s teeth tells us that some
dinosaurs ate only plants and some of them ate other animals. Some dinosaurs were
as big as locomotives, others were as small as cats.
Then, after millions of years, something happened to the dinosaurs. Suddenly they
began to die out. Many people believe that maybe dinosaurs died out because of a
change in the earth’s weather. The climate might have cooled suddenly, killing the
dinosaurs. But no one knows of certain.

€Y. The passage says that.......... Y+« million years ago.
a. all the land was warm and wet all year
b. the weather was dry and hot
c. much of the earth was hot and wet all year
d. the weather was not very warm and wet

¢€Y. We get information about dinosaurs by .......
a. studying weather condition
b. studying their fossils
c. learning how they came to the world
d. discovering the hot jungles around the world

¢€Y. The reason why dinosaurs died out was probably ...........
a. the heat of the earth
b. their large size
c. having no food
d. a sudden change in climate
True or false

¢€¢ Dinosaurs lived on the earth for Y+ + million years. a. true b. false
€2 Dinosaurs died out before man existed on the earth. a. true b. false
Good Luck

Farahani
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A -Fill in the blanks with the words given ( ¥ )
V. addictive LY Y. predict LY ¥.agriculture  L®
¢ magnify L1 ®. Charity LA 1. nutrients LY
B- Match the definitions in column (A) with the words in column (B). ( V)
V.(d) LA A(e)LY . (a)LY Ve (b)Le

C- Choose the correct answer. ( Y )
VY. (d)Le VY. (c) LA VY. (a) LA Ve (b)LY

D-Match the Items in column ( A ) with the appropriate phrases in column ( B ) to
make meaningful sentences. ( V)

Ve (c) LI Vi.(d) Lv \W.(b) L® ‘A (a) LY

E- Rewrite the following sentences using the reduced form of the underlined parts.(")
V4. The book written about global warming became popular. LY

Y «. Students studying hard are more successful in their exams. LY

F- Choose the correct answer. ( ¥)
YA.(b) Lo YY.(a) LV Y¥.(d) LV Y& (d) LA Yo (c)LY Y¥i.(a) Lt

G- Fill in the blank with the words from the list below. There is one extra word. ( ¥)
YV. plans YA, base Y4, Save L3

¥+ run ¥\. come from ¥Y. rocks

H- Read the sentences and choose the best choices. ( ¥ )

¥Y.(d)Le Y¢ (a)lLt Yo (c)Lv ¥i.(d)LA

H- Read the sentences and choose the best choices. ( ¥ )
¥v. (d)Le ¥é (a)lLt Yo (c)LY Y. (d) LA

|- Read the following passage and match each paragraph with one of the
headings
(main idea). Write letter (A, B, C, D) in front of the numbers of the paragraphs. (¥)
YvV.(D) YA (C) ¥i.(B) ¢ (A)

J- Reading Comprehension: Read the following texts carefully, then answer the
guestions by choosing the best choice.(Y)

€Y. (c) €Y. (b) £¥ (d)

¢ ¢, False (b) £° True (a)

\ delp
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